Section 1: Railroads for the 21st century

Big Bang Theory TV show

"Sheldon: Were taking the train!

Other guy: Seven times as long as flying and costs
almost twice as much."

Lewis Mumford
"immolation under the wheels of the puffing
juggernaut"

Nathaniel Hawthorn, House of Seven Gables,
1851, Ch.11

"It was the same with the railroad. Clifford could hear
the obstreperous howl of the steam devil... [it] seemed
to affect him as disagreeably, and with almost as
much surprise, the hundredth time as the first."

William Dean Howells

"Every seat is taken... in the aisle people standing
and swaying miserably, crushed together without
regard for that personal dignity we prize."

The Good old days, they were terrible Ch.10
"Train wrecks due to broken trestles, poor track,
exploding boilers, faulty signals, and careless
engineers and switchmen were a daily occurrence,
producing and accident rate in the United States five
times that of England. In 1890, railroad-connected
accidents caused 10,000 deaths and 80,000 serious
injuries. And while the primitive technology had built-
in dangers, railroad management was the real villain"

Propaganda

Hammond World Atlas 2003 ISBN 0-7607-5361-X
"The invention of the coal burning steam engine
launched the Industrial Revolution. The development
of railroads... made it possible to transport coal,
agricultural and industrial goods, as well as people
quickly, over long distances, and on a large scale.
The loud, smoke-spewing engines gave rise to early
complaints about environmental pollution."

How markets fail, ch. 9

"with the opening of the railway, 'costs are thrown
upon people not directly concerned, through, say,
uncompensated damage done to surrounding woods
by sparks from railway engines'. These social costs
don't enter the calculations of the railway company,
but in tallying up the ultimate social value of its
operations, Pigou insisted, 'all such effects must be
included"."

The dreariness of American transit

Our trains and transit station are some of the dreariest
and outdated places in America. Meanwhile, cars are
exciting and part of the national identity. Is this by
Arab design? Was the desperate land of no resources

angling for the 1973 oil embargo 120 years earler?

The Good old days, they were terrible Ch.2
"Heralded as fast, cheap transportation, the electric
trolley attracted the mass of citizens, who once more
were to experience the unhappy discrepancy between
promise and delivery. Impeded continually by traffic
snarls, they helped create, the trolleys seldom
reached their design speed of 20 to 25 miles an hour.
For long stretches they were forced to keep 'step'
behind horsecars, which were not abandoned when
their electrified successors appeared. The mixed
marriage of incompatible modes of transport was a
bad one, but it persisted for years. Monumental tie-
ups occurred daily, and long into the age of electricity,
the average speed of urban traffic was [purposely]
prescribed by the horse. [The 1st underline gets at
Arab power in our corporations and government. The
2nd underline explains what the administrations did to
erase the main advantage of the electric trolleys.]

Along with the inconvenience electric cars
brought to metropolitan centers came the [purposely]
unattractive jumble of overhead wires. Chicago ran
her cars in pairs through the busiest streets, an
insane concession to laissez faire. Moreover, the 5-
cent fare of the day (10 cents on the El) was not
considered cheap, especially by workmen with large
families. Streetcar fares cost low-income travelers
almost 10% of their pay."

[Today in Bangkok, the skytrain costs 35-
baht for a trip to/from the center to the semi-periphery.
This is 11.6% of the Thai minimum wage of 300-baht
= $9. These trains are less than half of the size of the
platform. Why not buy a few more cars, lower the
price, increase the ridership and double the return on
the billions you spent on your infrastructure? Why not
help your people to get out of their cars? Here we
see once again, that the world is not run for our own
benefit but for the parasite's.]

The wrong side of the tracks

This was the side the Arabs controlled more of. This
forced the real community to go on one side of the
tracks. Then the Arabs struggled to set up the
commercial center a good distance away from the rail
station, so the railroad station would no longer be at
the center of the town.

The Good old days, they were terrible Ch.2

"It is not clear whom the elevated railroads displeased
most: Those who traveled on them, those who
walked under them, or those who lived near them.

But it is clear who liked them: their owners, who with
memorable impudence were moved to declare, 'Street
railways were not made for New York—New York was
made for street railways.' All in all, the effects of the
El were not wholly negative. At best, it toughened
New Yorkers for the future by teaching them the



dangers of giving a public trust to those who could
least be trusted." [...'Giving a public trust'... was that
written by a foreigner? As far as | am concerned,
elevated trains are the most efficient way to go in old
cities. we just need to change a few things. A) The
trains roll on pneumatic rubber wheels like in
Marseilles? Aix? (I can't remember which, so they
make no noise. B) The trains go inside pre-cast
concrete tubes when they enter populated areas. C)
The trains go under a linear park and promenade like
that recent extermination of a rail line in downtown
New York — an extermination much touted by all the
parasite's men in the media.]

The Good old days, they were terrible Ch.5

"Aside from the steel mills the railroad industry was
the most lethal to its workers, killing in 1890, one
railroader for every 306 employed and injuring one for
every 30 employed. Out of a workforce of 749,301,
this amounted to a yearly total of 2,451 deaths, which
rose in 1900 to 2,675 killed and 41,142 injured. It
should be noted that these casualty lists cover only
railroaders in the line of duty: Civilian casualties in
train collisions and level-crossing accidents were
another matter. The New York Evening Post
concluded that the deaths caused by American
railroads between June 1898 and 1900 were about
equal to British Army losses in the three-year Boer
War.

In the high-risk job category the circus
stuntman and test pilot today enjoy greater life
assurance than did the brakeman of yesterday, whose
work called for precarious leaps between bucking
freight cars at the command of the locomotive's
whistle. In icy weather, it often became a macabre
dance of death. Also subject to sudden death —
albeit to a lesser degree —were the train couplers,
whose omnipresent hazard was loss of hands and
fingers in the primitive link-and-pin devices. It took an
act of law in 1893 to force the railroads to replace
these man-traps."

Apple Dictionary definition of GAUGE

1) "the distance between the rails of a line of railroad
track: the line was laid to a gauge of 2 ft. 9 in." [note
how the mentioned distance between the tracks is so
absurdly narrow and only 83cm — like a monorail.
Look how this frames track spacing in a way that
makes our trains tall and wobbly, like a monorail.]

2) "the diameter of a string, fiber, tube, etc. As a
modifier: a fine 0.018-inch gauge wire." [Strange how
this definition hides how something very confusing
about railroad rails, namely that the gauge of the track
should be the thickness of the rail steel and not their
spacing.]

3) "a means of estimating something; a criterion or
test: [ijmigration is perhaps the best gauge of public
unease." [l guess the people writing our dictionaries

care about keeping our railroad tracks really close
together, and hiding the idea of widely spaced tracks.
On top of this they care about helping keep our nation
open to immigrants.]

Ambrose Bierce, Devil's Dictionary:

"Railroad, n. The chief of many mechanical devices

enabling us to get away from where we are to where

we are no better off. For this purpose, the railroad is

held in highest favor by the optimist, for it permits him
to make the transit with great expedition."

Expensive railcars are not real

A 15-seat van cost $20,000+, or $1,350= per seat.

A 28-seat minibus costs $42,000+, or $1,500+ per
seat.

A 42-seat bus costs $300,000x, or 7,100+ per seat.
A 75-seat light railcar costs $2.4-million+, or $32,000+
per seat.

The expensive 42-seat bus is not real. Itis
made artificially expensive just like the railroad
infrastructure. So don't compare the cost of rail
equipment with the cost of busses.

Why does a railcar seat cost 24 times as
much as a minivan seat? Why does one seat on a
railcar cost more than 1.5 minivans?

And FY]I, electric motors are much cheaper
than gas-powered engines. Just go to any hardware
store and look at chainsaws. the gasoline chainsaws
are 2-to-5 times more expensive than the plug-in
electric ones.

What is going on is that the bus and rail car
industry is not real. It has been infiltrated by the
Arabs, just like the world's oil industry. They have the
fix in and they won't sell busses for less than 4 times
their true cost. And they won't sell rail infrastructure
for less than 20 times its true cost. This is how they
keep us buying their oil.

It shouldn't be expensive

Rail technology is 150 years old. Even updated, it
should not be expensive. The railcars should be not
much more expensive per passenger than minivans.

With regard to the steel rails, They are no
more than $60/ft. each. Two are $120/ft. That is
about as much a a 11'-wide lane of 8" concrete
paving. The grading and soil prep is about the same.
The prefab trestles (today's technology) cant be more
than $50 each. | mean, concrete wheel stops can be
had for $11. Concrete trestles be any more than 4x
the volume.

Gravel is about $10/yard delivered. A 12"
gravel base 3' wide costs about $3.33. The fittings are
sold by the millions and should be maybe $15/trestle,
or $10/t.

And if Tesla can drive on our roads, why
can't a string of trains go coast to coast 150 cars...
than 10 minutes later another 150 cars, round the



clock.

Why are railroads so expensive?

Why should a two-track railroad of today cost any
more than a typical 2-lane highway? | mean, there
are no guard rails, street lights, ramps, and passenger
trains should be a lighter load than bouncing highway
trucks and busses, so the bridges should be cheaper.

My prices are eventual prices

It may take a while for the causeway H-forms to be
robo-formed and become really cheap. It may take a
while to get the placement equipment really cheap
and fast. It may take a while for the track hardware to
come down in price. But eventually the prices | quote
should be how much this stuff costs.

Wind and rolling resistance

There used to be this popular meme in the 1970s that
explained why America needed to slow down to
55mph to save energy. If my memory doesn't fail me,
it showed how reducing your speed from 70mph to
55mph would cut wind and rolling resistance by
around 25%.

But this meme inadvertently teaches us all
about the two forces we are actually burning oil to
overcome, wind resistance and rolling resistance. At
80mph, something like 80% of the gasoline you burn
in your car is used to overcome the air in front of you.
And most of the rest goes to overcome the rolling
resistance of the tires in your car. The point is that
with trains, we have only a fraction of the wind
resistance due to the single profile, and thanks to the
steel on steel wheels we have only a fraction of the
rolling resistance.

Rail Freight: 100 times more efficient than
trucking

The overall efficiency of rail transportation for cargo is
stunning. Single conductors routinely move as many
as 400 shipping containers. By contrast, it would
take over 200 trucks and over 200 truckers to move
as many containers as the longest trains. These
trucks will have about 200 times the aerodynamic
profile (which uses some 80% of truck's fuel) as well
as much higher rolling resistance than steel wheels
on steel rails.

And wile each 6.5 MPG (2.8km/l) truck might
have its own 600 HP motor, a larger freight locomotive
produces about 6,000 HP. So energy-wise, judging
from the engine sizes, the train is some 20 times as
energy efficient. However, it is worth noting that train
engines need to be powerful to get the train up to
speed, as well as pulling it up hills. Coasting on level
ground, trains are something like 50 to 100 times as
energy efficient as trucks, especially at higher speeds
where their small aerodynamic profile and reduced
rolling resistance are a big advantage. They are also

about 50 to 100 times more energy efficient overall as
compared to trucks. Here is the first of many reasons
why the Arabs hate our trains.

The New Encyclopedia Britannica (1991) has 95
pages on public works. It covers roads past, present
and future; national highway system, bridges, canals,
water systems, dams, harbors, breakwaters, dry-
docks, lighthouses, waster supply systems,
aqueducts, sewage systems, refuse disposal, tunnels,
but no mention of railways in this section. They are in
another section where only half a page is devoted to
the topic.

In the rail section they mention that the free
rolling characteristics of Railroads allow them to work
with only 1HP of engine/gross ton. In comparison, a
semi-trailer truck uses some 10HP/gross ton. There
is also a 10:1 advantage in fuel economy and
employee productivity at least according to this biased
source.

Nathaniel Hawthorne, House of Seven Gables, 1851
(Ch.11)

"...It was the same with the railroad. Clifford could
hear the obstreperous howl of the steam devil"

165 years
The House of Seven Gables was written in 1851, 165
years ago. It boggles the mind, but for the past 165
years at least, our Arab parasite has sent men to out
part of the world to pretend to be real Americans. And
all the while, they secretly struggled against our
efforts to have a good railroad or a great metro
system. Our rail systems had to not work, or there
would be no possibility of oil-based enslavement.

We haven't tried anything yet. Look at the
New York subway system. It uses 120 year old tracks,
and 30-50 year old cars. Its noisy, hot in the summer,
cold in the winter, And its use is heavily taxed, taxed
as much as the market will bear.

Why the Arabs hate our rail infrastructure

1) Railroads and metro systems use 99% less oil for
shipping goods compared to trucks.

2) Railroads use 98% as much oil for shipping people
as opposed to flying.

3) Cities with metro systems use much less gas per
capita.

4) Railroads marginalize shipping on the high seas
and as a consequence they marginalize the Mideast.
5) Railroads are inherently faster than automobiles at
the same safety level. Thus they interfere with
intercity driving.

Rail is better in so many ways

1) Ultra smooth and precise surfaces allow for much
faster travel.

2) Rail can use tethered braking for ultra-fast



stopping.

3) Even without tethered braking rail is perhaps 500x
safer for passengers than cars.

4) Because of tethered braking combined with the
inherent safety of the system, we should be able to
exceed current mag-lev speeds for about the cost of 4
lanes of traffic.

5) Rail will be faster door-to-door than flying on all
trips of under 2,000 miles, and some over that.

7) The marginal cost of rail is practically nil.

8) Steel rails need far less maintenance than roads.
9) Railroad bridges are lighter and cheaper than
vehicle bridges.

10) One big engine is much cheaper to maintain than
50 little engines.

11) Railroad wheels last for decades, in sharp
contrast to rubber tires.

12) If we use computerized accelerometer-enabled
power and braking system — One that ramps and
controls stopping force — and we use wide gauge
tracks, we can make trains with barely any perceptible
motion. Thus we will be able to relax and work and
read in a moving "hotel room" while we get to where
we are going.

The safety of rail vs auto

In the EU in 2009, 34,000 people died from car
accidents. In the same year, less than 72 train
occupants died from accidents. In other words, rail is
472x safer than the current auto system. Shouldn't
we be pushing our rail system for speed if it is this
safe, 472 times safer than driving?

1-million dead in 30 years

Much is made about how vehicles have gotten much
safer in the US and road deaths are down to only
33,000/year. That is about 1-million people in each
30-year period!

Safety and hazardous materials

Rail is not only much safer for passengers, it is also
the safest way to move nuclear waste, flammable
liquids, and dangerous chemicals.

Safety and speed

Because rail is so much safer, passengers can go
much faster. This speed combined with the true cost
and energy efficiency of rail will end most driving,
flying and cargo shipping on earth.

1-way rail collision avoidance is simple

Lets say our trains are all going the same direction on
our rails. And lets say that the tracks are all either on
a raised viaduct or fully fenced tracks with no on-
grade crossings. How hard can it be for a computer
to tell if the path up ahead is blocked by anther train?

Train on scales

If we measure the load on each wheel, we also
measure negative gravity and upward derailment
forces. When we combine this with our motion
sensors we will have a very clear picture of where we
can speed up and where we can't. Then we will
speed up and slow down all trains on our routes in the
same way, but all will go much faster.

Rail is cheaper than highways

How much does our personal transporter system
cost?

How much does America spend on its absurd
personal transporter system, with 200 million (I am
guessing) cars that live for 10? years on average?
How much do we spend building these giant 8-lane
highways and monster fly-overs? How much time
and aggravation do we waste in traffic. How much
time do we waste traveling at only 65mph? How
much smaller are our cities because of the drive. How
much more scarce and expensive is our land? How
many people die in accidents? Why not use 200 mph
trains (steel wheels on steel rails) that cost little more
if they make 1-million trips a day or 10-million.

The car system costs around $5,000/yr per driver
$40 of gas for 52 weeks = $2,000/yr.

Insurance = $1000/yr.

Car depreciation = $2,000/yr.

This does not count government spending on roads.

Every car and truck mile has a cost to society

Los Angeles has spent billions on adding public
infrastructure for new comers, huge fly overs and
huge double-width freeways. All of this money was
spent on new drivers — and each additional new
driver costs money. We should also try to quantify
these costs, for they are surely 10 to 100 times higher
than the free-market cost of building rail lines.

Each mile we drive

Every mile we drive in our personal transport boxes
costs society something. It increases congestion and
road expansion spending. It leads to slower commute
times and causes roads to wear out faster, thus
increasing road maintenance costs. It also results in
more accidents. More driving also means more
pollution. So every marginal mile we drive in our
personal transportation boxes does cost society some
money: And reducing the amount of driving in
personal transportation boxes saves our society
money.

Intercity rail costs: 3—15—100 —1,800

$3 million for 4 locomotives

$15 million for 40 railcars

$100 million for 2 stations

$1,800 million for 300km of tracks and bridges



The cost of intercity rail-based systems is all
about the cost of the tracks. Once the tracks are in
and the stations built, increasing capacity, is just a
matter of buying more railcars and longer trains. Thus
intercity rail seats are effectively limitless and their
marginal cost is only perhaps 5 cents per hour.

Super nice cars and stations

If nearly all the money is being spent on tracks, then
spending 50% more on nice stations and railcars
won't really matter much. So we are right to expect
nice design and pleasant places.

The local government owns the station

What a problem railroad ownership of trains has been
for so many towns. Private property it was, often with
a totally indifferent, corporate owner. The local
government should run the station and manage the
rails to the next town.

If we are going to be moving people around
efficiently, which system requires larger and more
expensive infrastructure?

Human
SUvV
Volume in cubic meters 0.15
15
Weight in kilos 72
2,000
Width in centimeters 50
210
Following distance in meters 1
100

50 times more energy efficient?

We really should know how much more energy
efficient electric trains are than the average intercity
automobile passenger per passenger.

The case for free rail travel
A seat in a minivan cost Around $1,500. Lets say our
trains costs twice that or $3,000. Assuming an 8-year
payback that is $375/ year or $1.03/day, or 4 cents
per hour.

And lets say the train has 300 passengers
and uses 40 kilowatts per hour on average costing 15
cents/kwh. That is $6 in electricity among those 300
passengers, or another 2-cents per hour. So the
marginal cost of a seat on a train is around 5-cents
per hour.

We spend so much on roads
And train travel is so cheap, that we can afford to give
away the train seats for the savings on road spending.
In fact it is just how we probably want to give away
internet for free for the savings on roads.

Every rail passenger person who goes by
train helps reduce road expansion costs, road

maintenance costs, and they help improve highway
safety, they reduce air pollution and of course huge
amounts of energy are saved. So why don't we all
slash rail prices to their true marginal cost; or better
yet, make them free to use, like our highways? Why
don't we try to get as many people as possible using
the national railway system, instead of using the
automobile system where they use about 100 times
as much of OPEC's 0il? What force could possibly be
blocking such a logical course of action?

Here once again, we see the power of our
parasite over our "democracies." Our parasite got us
to build out an immense multi trillion-dollar interstate
highway system for our gas guzzling automobiles; a
"freeway" system that never charges anything for
using the system. On the other hand, our parasite
also got us to slash spending on super-efficient
railroads and charge absurdly expensive fares that
serve to discourage ridership on the "obstreperous
steam devil". Then, with rail fares so expensive, the
result is that people tend to drive and use lots more
Mideast oil.

And while we are on the subject of making
our rail infrastructure system into a free public service
like road access and street lighting, lets also include
internet, telephone and cable internet access. As
much as it is good if more people take the train
instead of driving: It is even better if people don't even
need to go at all, thanks to electronic communication.
See, if increased use of electronic media reduces the
trillions we spend on the nation's automobile system
by even 5%, we as a society can justify paying for
free universal electronic communication. But of
course, America's #1 behind the scenes lobbyist,
OPEC, would be dead set against such a policy
change.

The name AMTRAK in brolingo
Gr. anthrak = coal. Right around the time of the
embargo, our parasite got America's Congress to
nationalize America's "failing" rail industry and then it
got congress to name it "coal". With this name, none
of the Greek speaking "wise guy" geniuses would get
confused about which businesses and public policies
to support and which to STRUGGLE against.

Also, it is remarkable that America's rail
industry could have been suffering at a time when
energy prices increased 10 fold.

Why does SC-AMTRAK charge so much?
One way coast to coast is $350 to $680.
Los Angeles to San Francisco is $59 to $120.

Why is rail travel so expensive?

How many trillions did we spend building America's
"free" way system? How many billions do we spend
maintaining our "free" way system each year? And
how much do we charge to use our "free" way



system?

Now we do have fuel taxes, but these only
work out to around 2 cents per mile. Besides, they
were not really intended as a fee for using the nation's
roadway infrastructure, but as a way to increase
energy conservation. 2 cents/mile incidentally works
out to about $8 for the 400 mile drive between Los
Angeles and San Francisco.

This is on top of the $60 most people pay in
fuel (20mpg, $3/gallon). By contrast, the US
government's passenger rail monopolist Amtrak
charges between $59 and $120 for each seat on this
route.

Strange how the US government spends
trillions on energy-INEFFICIENT highway and road
systems and charge practically nothing all to use
them. But with respect to our super energy-
EFFICIENT rail system, we charge about the cost of

flying.

Big Bang Theory TV show

"Sheldon: Were taking the train!

Other guy: Seven times as long as flying and costs
almost twice as much."

Rail can be faster than hub & spoke aviation

It takes 8 hours to fly from Boston to San Diego. This
is about the longest hub and spoke flight in the
continental US. It is also about the fastest in terms of
velocity. Add a 2 hours for check in, 30 minutes to
collect your bags and 45 minutes driving to/from the
airport in each direction and you have 12 hours for
3,000 miles. That is 250 MPH, and this is for the
fastest hub and spoke travel in the nation.

Now in France and China there exists
wheeled trains, trains using steel wheels on steel
tracks, like the TGV Atlantique that go over 450kph,
(275mph). And this is on today's 1.5m gauge tracks.
Also, the French TGV was created before computers
and computerized sensing, as well as computerized
robots. ltis just plain old steel wheels on plain old
narrow steel tracks that are adjusted periodically by
humans.

Just imagine how fast we could go if we
used:

1) Tracks 4-times as wide.

2) Gravity sensors.

3) RFID chips to precisely position our gravity
readings.

4) Track adjustment robots that constantly level the
tracks.

But even if we only go 275mph, the system
is still faster than using hub and spoke aviation for
domestic US flights.

On a 1,500-mile direct flight, say from Dallas
to San Diego, (3 hour flight plus 2 hour check-in, 30
minutes to collect your bags and 45 minutes driving
to/from the airport in each direction and you have 7

hours for 1,500 miles) This is only 214mph.

On a 500-mile direct flight from San Diego to
San Francisco, we have a 1.5 hour flight, 2 hours for
check-in, 30 minutes to collect baggage, and 45
minutes on each direction for ground transport. This
works out to 5.5 hours to go 500 miles, or about 90
miles per hour. A 275 mph train would take less than
2 hours.

So if you are going from one end of the
country to the other rail is roughly the same speed. If
you are going 500 miles (818km) rail is about 2.5
times faster.

On top of this, there are far fewer delay due
to weather. And except for very heavy snowfalls, rail
is mostly impervious to weather conditions.

Airplanes are also frequently delayed as a
result of the high mechanical standards required to
make them safe. Airplanes are not only filled with
flammable fuel, but they can also fall from the sky.
Trains use grid electricity and even if all external
power is lost, they can be coasted to a stop.

Also, we also don't have to worry much at all
about terrorism with rails, because compartment
trains are inherently bomb resistant. So we can
simply eliminate the TSA screening delays. As well,
airports, due their immense noise pollution are also
located far away from the city, which makes the
system less convenient. If we put skirts around our
trains, they will be quieter than our highways.

Railroads will end most other transport systems
1) Cars

| bet we will get out new wide gauge railroads going at
least 500kph. (305mph). This is 5 times average
automobile speeds today, under ideal conditions, and
without traffic. And this system will cost a 10th, a
20th, or maybe a 50th as much to operate, maintain
and fuel.

2) Airplanes

To cross US, unless you are flying non-stop, it will
actually be faster (counting TSA and drive time) to go
by rail. And it will cost less than 1/20th as much as
flying. And for cross country trips, | bet lots of people
will opt for a 10 hour couchette ride, instead of even a
5 hour non-stop flight. It might cost as much as a
hotel, but you arrive first thing in the morning, ready to
go.

3) Boats

Our rail lines will link just about everywhere except
Australasia, Japan and Madagascar. There will not
really be any more boat shipping, except to islands
from the nearest mainland. Panama, the blood Red
Sea, and the Persian Gulf will be mostly forgotten.
As to shipping between Asia and the Americas, good
will move by bridge or tunnel at the Bearing straits.

Railroads wear out slower than roads and
automobiles



Another advantage of railroads is that steel wheels do
not wear out like tires do. As well, the cost of
maintaining rails and electric motors is an order of
magnitude cheaper than maintaining pavement and
engines. This is especially so if there are track
alignment robots handle track alignment.

Spend some money
Given the 3-in-1 nature of the rail system, we should
probably do it right.

Make them fast.

make them light.

make them smooth.

make them cheap.

make them nice.

Connect the Americas.
Connect Asia and America.
And most importantly,
Connect Asia and Europe.

Einstein in a train

That story, that image of Al*bar Ein+stein sitting in a
train and realizing his great theory — thatis a
brotherly high-sign about the true meaning of the
theory of relativity. To me it means that Mr. One cup's
relativity is actually about the relative efficiency of the
trains that would quickly put an end to the oil powered
automobile and the planned Arab domination of oil.

They had trains projects

And they had people developing entire districts
But nobody ever did both together

Imagine if a major city ever sprouted even one
shuttle-line suburb where the railroad were selling say
10,000 lots — that would have ended the folly of the
automobile-based suburb. Imagine it in today's
dollars. 10,000 lots at $100,000 net profit each. That
is $1-billion. How much does it cost to build a 10km
rail line? Alot less than $100 million per kilometer
($100,000/meter).

America's all new rail system

America's rail system is embarrassingly outmoded
and neglected. It is my opinion that there is no part of
America's old rail transportation system (except some
stations, bridges, and the rights of way) that is worth
saving. We therefore should start over again from the
new ground up, with a new rail system and new
communities that will sprout up in the middle of
nowhere.

New metro stops go where density is lowest
Most people have this wrong. Society should not put
its transit in already dense places, but where it will
return the most money. In other words, society should
invest wisely.

Which infrastructure system will cost more?
The one down Broadway in New York, or the one

through farm acreage? Clearly infrastructure
investments in the center of town cost more.

Where will a new train stop create the most
value for nearby land owners: The one on Broadway
in New York, or the one connecting to New York, but
out in a remote unoccupied valley 30 minutes away?

There is both a lower cost, and a higher
payback for the public's investment in the cheapest
land as opposed to the most expensive. And this
does not even count how the public's right to harvest
the wealth is highly questioned in urban areas, while it
goes almost undoubted when the project is in the
middle of nowhere. So clearly we want to put our new
public transit stops in the middle of nowhere on public
land and connect to existing cities. Then the public
will be able to sell lots and make piles of money on
the property taxes.

15,000 units paying $700/month in property taxes
This township has income of $10.5 million/month or
$126 million per year. The ring road is like 0.9km out
and around the ring road, people can use shared
compressed air buggies, and inside they just walk.

The lots are free, and you don't need a car to
get around. The township maintains a fleet of
compressed air buggies for the people living in the
sub-orbs. It also has free use of the town shuttle for
residents. It also goves away lots to anyone who
installs a unit.

Some of these townships connect with a
new-pole of downtown location in the old city. And if
we can have enough of these clustering around the
downtown, then we can attain critical mass for a car-
free sort of urbanism that is much cheaper than our
current system. So after a while, much of the old city
gets sold cheaply and a new city of nodes rises from
the old city.

Making cities for profit

Group infrastructure investments can be hugely
profitable for the people if done wisely. And while we
certainly want to leave production and distribution to
the private sector in general, it is society's role to
make the cost-effective infrastructure investments that
facilitate communication, movement, monetization
and sharing (CMMS).

Abandoning all the old cities
Transit oriented townships will be much cheaper to
operate than conventional cities. We will not need
cars or insurance or road maintenance, or garages, or
suffer from traffic. All we will have to do is have say
20,000 people chip in to maintain their a set of railcars
and a pair of rail lines, and a station. This will cost
less than 5% of what the current system costs. And
the taxes will reflect this.

The new townships will thus cost a fraction
of our current cities. Thus people will abandon the old



suburban cities because of their high cost. Just make
sure that nobody lets you burden the new cities with
the costs of the old cities.

Land proximity tax
In our townships, our main source of income will be
from land tax. Land closest to a railhead will be
zoned for highest density and pay the highest land
tax. The land farther out shall be zones for
progressively lower density and shall pay a
progressively lower tax rate.

Thus a 6 story building pays the same LP-
tax as a vacant lot. And a lot at the center might pay
twice as much LP tax as a similar lot at the periphery.

Completely new rail infrastructure

America's intercity rail system is an absurd joke. Itis
something so poorly run that it is unbelievable, and
we begin to doubt that we actually live in a
democracy.

We should just start over with a new system
in new places that are owned by the people of our
nation. We will sell these for cost, and charge
whatever our Senate thinks is right for property taxes,
sparing no justifiable expense for the betterment of
our community.

Every company selling transit equipment

Rest assured that all are firmly in the hands of Arabs
Inc. Nobody makes railcars, or busses or anything
having to do with transit unless the Mafia goes along.
It is just like with oil. Nobody goes near it without
getting his nose cut like old J.J Gides.

We can use none of these companies, and
all of the people currently working for them should be
suspect. We will just start over using designers and
engineers from other industries.

Textown

Somewhere roughly east of Austin, there is a spot that
is the best place to connect Dallas, Houston, and
Austin/San Antonio. Here will go a rail junction. One
train will run from Dallas to Textown to Austin/San
Antonio. Another train will run from Textown to
Houston.

railcars

Lateral pitching

If the train floor is 1.5m above the tracks and the rails
are 1.4m apart, then track settling is multiplied by up
to 1.07 as traverse or lateral movement. Here a track
settling dip of 5cm will produce a 5.35cm lateral lurch
at floor level at the other side of the railcar.

Now the previous number is not terribly
important because few passengers will be lying on the
floor. What is important is the number at center of
head level. This | presume to be 1.15m above the

floor for seated people, and 1.50m above the floor for
standing people. Thus the head of the average seated
person on one of today's narrow gauge trains sits up
at 2.65m above the rail surface. And for the average
standing person their head sits up at 3.3m above the
rail surface.

So on today's narrow gauge trains, a seated
person suffers a dip multiplier of up to 2.65/1.4 = 1.89,
and the average standing person 3.3/1.4 = 2.36.
Thus a 5cm track dip becomes up to a 9.45cm lateral
lurch for the seated person and up to an 11.8cm
lateral lurch for the standing person.

Alt-1: Railcar floors just above the rails

Instead of using the giant wheels we have on today's
trains, we can use say 20cm or 30cm diameter
wheels. We can put these inside the floors or walls
and have trains with floors only 30 cm above the
tracks.

If the train floor is 30cm above the tracks and
the rails are 6m apart, then track settling is multiplied
by 0.05, meaning that it is reduced by a factor of 20.
Thus a 5cm track dip becomes a 2.5mm lateral offset
at floor level.

In this configuration on a 6.4m track
separation, the seated person rides up at 1.45m
above tracks that are 6.4m apart. He benefits from a
dip multiplier of 0.22, and a 5¢cm dip becomes no
more than a 1.1cm lateral movement. This is about
an 8.6-fold reduction in lateral movement over today's
narrow gauge tracks.

In this configuration on a 6.4m track
separation, the seated person rides up at 1.8m above
tracks that are 6.4m apart. He benefits from a dip
multiplier of 0.28, and a 5cm dip becomes no more
than a 1.406cm lateral movement. This is over an 8-
fold reduction in lateral movement. This is about an
8.4-fold reduction in lateral movement over today's
narrow gauge tracks.

Drawing of this fhifhi456
Alt-2: Put the floor below the rails
The most pitch-free design puts the center of the
head of the average person seated on the train just
above co-planar with the rolling surface of the tracks.
This is however not practical because it would not be
possible to look outside the windows. So instead, lets
consider putting the floor 60cm below the track and
look out over the track whizzing by our faces at 60cm
over the floor

In this configuration, on track of 6.4m
separation, the average seated head is centered 55
cm above the track. Here the dip multiplier is 0.09,
and a 5¢cm dip becomes no more than a 4.5mm lateral
movement. This is about an 21-fold reduction in
lateral movement over today's narrow gauge tracks.

In this configuration, on track of 6.4m
separation, the average standing head is centered 90



cm above the track. Here the dip multiplier is 0.14,
and a 5¢cm dip becomes no more than a 7mm lateral
movement. This is about an 17-fold reduction in
lateral movement over today's narrow gauge tracks.

In 300kph trains, putting the floor below the
tracks would clearly appear to be folly. But in the
600kph or faster trains of the future, perhaps it is a
good idea. Maybe we should build a test viaduct so
we can test and judge both designs.

As fast as commercial jets

If we are on raised viaducts, why can't we go 900kph?
With Alt-2, the train will only stick up about 1.5m
above the noise skirting. This will certainly minimize
the wind effect on the ground.

Transportation in sealed tubes is a ruse

Anyone who has ever drafted a car on a bike can
testify that there is no need to build a tube around our
vehicles. All we have to do is make our vehicles long,
like trains. Thus if we have a 2,000 people on a train,
and the train has twice the profile of a car, the the
wind resistance will be 1/1,000th that of our cars. And
yea, sure, our cars are about 1/4 of the wind profile of
a 6m gauge train. So yeah, the train is only 250 times
more efficient with regard to wind.

A prediction

Our trains will soon achieve airline speeds and only a
fraction of the fuel. We will overcome the wind by
putting a great many cars in a row.

3x noise skirting for high speed passenger cars

It is possible for the train's track skirting to ride inside
the concrete skirting and another train skirting rides
on the outside of the concrete skirting, thus creating a
noise baffle.

Lateral motion

To see how stupid narrow gauge tracks are, just try
standing on a train in two ways: A) parallel or
skateboard style and B) perpendicular or horseback
footed. If you stand horseback style, you never loose
your balance, but if you stand skateboard style, you
are constantly losing your balance. Widening the
gauge of the tracks will get rid of most of this
sideways rocking on our trains and allow them to go
much faster.

A stability demonstration

Take a 1.8m (6') pole and grasp one end of the pole.
Hold the pole upright with the heel of your hand at the
very end of the pole. With the pole so grasped, sit
down on a step or a chair and try to hold the pole
vertical and stable. Note the amount of movement at
the top. Now take a 33cm (12") pole such as you
would find on a squeegee or a hand rake and do the
same thing. Note how the short pole stays dead

steady in comparison. A similar degree of stability is
achieved with a 6-fold increase in the height to width
ratio of our railcars.

Inertial sensors
As high as possible so that lateral forces are highest
and easiest to read.

Self-propelled railcars
If they are all self driving, and self re-coupling, we
should probably just make all of them self-contained.

Rule of thumb

If you halve the lateral motion, you double the
maximum speed. Trains 4 times as stable can go 4
times as fast and experience the same rocking. All
that they need is a way to bake in less than 10 miles.

Rails
Use wider outside top flanges on the curves

40cm tall rails on 30cm brackets

The rails will be tall. They should be tall firstly
because they are stronger that way, and we will more
efficiently use the rail steel. But secondly the rails
should be taller so we can drop most of our floor truss
between them. This way we can keep our railcar
floors close to the rail top were lateral pitching is
minimized.

The wheels go at the edge of the car
Don't let anyone dupe you into making your car width
any narrower than it has to be.

Keep the tracks close to the viaduct

The closer the track is to the viaduct the easier and
cheaper the sheer load will be to manage in panic
stops.

New rails for a new world

Our standardized rails are from a time when the steel
in the tracks was the most expensive part of the
railroad. This is no longer so today.

Standard gauge how wide?

For safety reasons, we want people to sleep sideways
relative to the tracks as in sleeper trains in Europe. If
we do this off a central hallway, and we have doors
between births and to bathrooms, we have

10cm for outside walls

60cm to get around the bed

200cm for the bed

10cm for hallway wall

90cm for hallway

10cm for hallway wall

200cm for the bed

60cm to get around the bed



10cm for outside walls
Total 6.5m

As it is simply wasteful to put wide railcars
on narrow tracks we will maximize the track
separation to 6.4m.

Three new standard track track separations or

gauges

1-gauge 0.800m (2.64"' for reference only)
3-gauge 2.400m (8'+)

8-gauge 6.400m (21'%)

16-gauge 12.800m (53'+)

The track gauges are measured to the
outside of the track. The 3-gauge is the widest gauge
that can be used with existing tracks and containers.
The 8-gauge allows for vehicles up to 8.5m (28') wide
through tunnels and the like. The 16-gauge is for
GAIA-FORMING equipment such as we might use for
our volcano and rain-shadow irrigation. It may have a
non-electrified 3rd rail in the center for strength.

The dimensions in meters have precedence
and shall be the new international standards. No
nation may use a different track spacing gauge for its
intercity rail network and remain in the UM. This
however, does not apply to mountainous areas and
dead end lines to small towns of less than 100,000
people. Trains on closed lines up steep mountains
can use any track separation they want.

Wide gauge trains in film

In the film Rogue One, they have both wide gauge
shuttles and a radial city with the highest density in
the center. They made the central density absurdly
tall, and they used the shuttles for machinery not
people, making them slow.

Shipping containers

These are 2.44m (8'-0") wide. The 8-gauge (6.4
meter track separation) railways will be designed to
accommodate railcars up to 8.5m wide. This is well
over three 2.44m containers wide.

Sleeping cars, hotels on wheels

For safety reasons beds must be transverse to the
line of train travel, and against a bulkhead wall. Beds
are 2m long. We need 0.8m for the hallway at a
minimum. We also need a minimum of 0.30m for
walls. This comes to 5.10m at a bare minimum. If we
want to be able to walk around our beds (so we can
have suites) we need an additional 50 cm each at a
minimum. This takes us up to 6.10m at a bare
minimum.

If we have 40cm for walls, 2m for beds, 1.1m
central hall (allowing 52cm-wide suitcases to pass)
and 60cm to walk around our beds, that is 6.7m riding
on 6m tracks.

Paint the rails

Paint everything except the main rolling surface. The
guidance wheels/tires will not rub much paint off.
Have painting robots for what is rubbed off.

We might also drag our fresh hot I-beams
through a zinc puddle on their way to cooling. Then
we scrape the zinc flat on the main rolling surface.

This is a transportation system that will need
nothing but the occasional robotic adjustment for
many decades, and this only if the soil settles.

braking and guidance

Fast trains are fast stopping trains

The critical issue with trains moving at super high
speeds on broad gauge tracks and raised viaducts is
not so much the moving fast, but stopping fast in case
of emergency. It is this stopping time/ distance that is
the real limit on the speed of our trains. Anyway, the
current way that trains brake (i.e. by stopping their
wheels and sliding steel on steel) is a major limiting
factor for the entire technology of rail transportation.

You can't beat tethered braking

Unless the vehicle is physically attached, braking can
only approach 1 gravity of deceleration. However, if
our rails act as restraining straps, the only limiting
factor is the safety and gravity loads acting upon the
passengers.

So let’s say we have traditional Euro-style
segmented compartment trains. These have
transverse-mounted self-closing sliding-doors
between hall segments. They have warning alarms
and flashing lights. And they use computers and
accelerometers to ramp up deceleration loads. If we
have features like these, we can ramp up horizontal
stopping gravity to 5-Gs of deceleration with minimal
harm to the passengers. The general rule among
passengers should be to give in to the gravity in a
panic stop, and go up against the leeward side of the
nearest wall, or person, before being hurled that way.

Super-high lateral loads

If we are going to be ramping our braking up to say 4-
Gs of deceleration without ruining our tracks, each
stretch of track will have to bear rather extreme lateral
forces

They gotta be tethered to something

There's much more on high-mass viaduct design later.
Just don't forget to strap the rails to the viaduct in a
proper way,

Automobile stopping distances

Those highway safety stopping distances for normal
cars are only calculated at .35g. Untethered 'formula’
race cars can stop in half the distance. A tethered
train stopping at 1.4Gs would stop in half the distance
of a formula race car and one stopping at 2.8Gs



would stop in one quarter the distance. The point is
that we can have 350kph (214mph) trains with
stopping distances that are shorter than we accept for
cars on US highways.

Speed Normal car Formula car 1.4G
2.8G
100kph 60m 30m 15m
7.5m
200kph 210m 105m 53m
27m
300kph 443m 222m 111m
56m
400kph 756m 378m 189m
94m

But we are talking about trains on dedicated and fully
fenced (or raised) rights of way. These trains will
move on permanently one-way tracks with multi-
redundant sensor and video system for the (rail)road
ahead. They will have computerized ramped
breaking, backwards seated passengers, and a
segmented or cellular safety design for their cabins —
And the hallways will have self-closing doors.

These are trains that are capable of stopping
as fast as a fighter jet catching an aircraft-carrier tail-
hook. They will only stop that fast to avoid a collision,
but they will be able to stop that fast if they need to,
so 500KPH wheeled trains? It is hard to say how fast
we can safely go on a 6-meter-wide robot adjusted
track?

As much braking as we want

With tethered braking and properly anchored track, if
we needed to, we could stop our 300kph trains in 20-
meters. And this sort of 20-meter stop is obviously
not necessary or practical, but we should design our
trains so they can be stopped as fast as safety will
permit. No other form of transportation affords such
an ability to stop quickly.

The new rails (tethers)

It is explained in greater detail later, but our new rails
will be much larger than existing rails. They will be I-
beams that are something like 25cm (10") wide and
50cm (20") tall.

The new steel rails themselves

Imagine an I-beam profile that is something like 25cm
(10") wide and 50cm(20") tall. The surface of this
beam is very smooth and regular. The web, the part
that connects the two flanges of the I-beam may be a
bit off center.

Guidance wheels

Today, the wheels of our trains have a flange that
rides on the inside of the rail and keeps the train
aligned with the track. This flange will be eliminated

in our new trains and the main rolling wheels of the
train will be entirely flat.

To keep our trains aligned correctly on the
tracks, we will use transverse wheels mounted
between the tracks. These will press against the web
of the tracks and keep the main rolling wheels aligned
with the track. Their exact position will be somewhat
adjustable to help the trains stay properly aligned to
the tracks in curves. The first engaging of these
wheels, the ones for subtle adjustments, may be
made from pneumatic rubber and quite tire like.

The brakes clamp the train to the tracks

It is all rather like the brakes on your bike. When the
brake is disengaged, the wheel spins freely. When
you squeeze the brakes, the wheel stops.

The best approach seems to be to use
"sticky" brake traction wheels pressed outward
against the inside webs of the I-beams. Again, the first
brakes to engage will be subtle and gentle, the last
will be extremely powerful. And there may be 3 or 7
parallel braking systems, each more powerful than the
last.

The brake wheels will be "floating" in the air
under the top flange until the brakes are engaged.
The free-spinning frictionless guidance wheels will
keep them in the correct position, inches away from
the tracks.

Normal slowing does not use the brakes

It is important to point out that nearly all normal
CELERATION (=acceleration and deceleration) will be
achieved through the drive motors and the main
rolling wheels. It is only emergency stops that will use
the web-brakes.

Smooth computerized deceleration

We will use computers and accelerometers. So the
braking on our trains is capable of smoothly ramping
up to perhaps 5-G's or more over some seconds.

Anti-derailment systems

The guidance wheels will be the main anti derailment
system. They will be designed to be completely
adequate for this purpose. They will be supplemented
by the brake system when it is engaged. These
system will work to prevent derailment because they
are trapped in place by the large top flange of the
track. Here is one reason why we make our rails with
large top flanges. These will trap the guidance and
brake wheels in a channel and lock the train to the
tracks.

A derailment prone design from 150 years ago
Look "today's" railroad wheels with their 2" flanges
and how easy it is to derail these trains. A 2" bump is
all that is standing in the way of most trains derailing
today. On the other hand, the new trains will have



both guidance wheels and brake pads stuck in a
channel.

Our rails must be laterally braced

If we don't brace them laterally, the force of the brakes
will splay our track out. Then the camber/angle of the
rail web will drive our brake wheels upward towards
the top flange. If this splaying is large enough, then
the train will derail. We must make sure we fix the
rails firmly with respect to the very high forces of the
brakes.

Brakes at the bottom, bracing at the top

The brakes engage towards the bottom of the rail web
to minimize their leverage. The bracing to counteract
the force of the brakes goes towards the top of the
rails to maximize its leverage.

The brake system needs a pulling bias

Make the top of the Rail web a couple millimeters
fatter than the bottom. This way, when we engage the
brakes on our railcars, they will be pushed down a bit
rather than up, and out and towards derailment.

Train safety

Compartments are safer on trains

You know the railcars with long one room? These are
the new railcars that started getting used in recent
decades, the railcars that most people don't like.
These are much more deadly in high speed collisions
and derailments. | mean, just imagine the people all
flying towards the front of one big railcar. Isn't it
amazing the way our railroads stopped buying the
popular, old-style safe cars and started ordering the
dangerous and unpopular new ones? Now what
could have caused that?

Compartments allow our trains to have faster
and safer panic stops, and because of that, they are
able to go faster with no greater risk. Compartment
wall also serve as bulkheads, strengthening our
railcars and allowing them to be built lighter.

Recent deadly derailments

Recall that recent derailment in Spain where many
people died. Most were killed because they flew
through a big open long car. The Spanish train crash
would have been far less deadly if the cars were
compartmentalized.

Some derailment statistics please

1) Given a derailment speeds in kph, (60-80,
80-100,100-120, 120-140, 140-160, etc.) what is the
death rate for compartment trains vs. open car trains?
2) Make a timeline of derailment deaths per year.
Was there a long period with minimal derailments?
Did trains suddenly start to suffer derailments after
many years without them? Are they like offshore oil

spills, only happening when the Arabs needed them?

The impact alert tone

This is just like the US emergency broadcast system
tone, only louder. When this sound is played everyone
should brace for impact.

Side impact airbags

Trains don't need these. In trains, there is no
possibility of vector except along one axis. For this
reason, they are inherently safe as long at passenger
impacts on this access are bulkheaded and padded
for.

Seating people backwards

This is also a good idea to increase safety —
although not really necessary. In sleeping and other
private compartments, the seats/bed should probably
always go on the leeward side of the train.

Bulkhead doors

To prevent people from flying great distances, no train
or metro compartment should be longer than say 4 or
5 meters. All existing railcars should be retrofitted or
decommissioned by the year 2026.

In new trains, we imagine light-weight, but
very strong plastic doors in the hallways, each with a
clear peer-hole. These are transverse-mounted self-
closing sliding-doors between segments. These are
all on fast closers to rapidly auto-close in a panic stop.
In a panic stop, they will all lock and prevent people in
the hallways from flying too far.

Also, even our high speed urban transit
should probably have compartments or at least
collision safety baffles. They don't have to be quite as
small as the European intercity train compartments,
but it is bone-head stupid not to make them part of the
design.

Emergency stop initiation

1) The track segments have pre-programmed speeds.
If the train is going too fast approaching a station, the
track tells the train cars to slow or stop.

2) Central traffic control can also tell a train to slow or
stop.

3) Seismic alert computers can stop our trains.

4) The trains might also have vidcams front and back
as well as the next cam down the track. This goes out
via wifi to anyone who cares to watch. If a large
enough number of passengers hit the emergency stop
at once, the train stops.

The deadliest rail accident in 36 years

In early February 2015 there was this little story about
a minivan getting caught on rail tracks and 6 people
dying. |took note, indeed many people took note,
because this was the deadliest train accident in 36
years for New York. What a safe way for people to



get around!

Then what do we see just weeks later? We
see a horrible train accident in the same metro area,
complete with repeated and sensational media
coverage. To me it is astronomically unlikely, that this
was not an act of Arab sabotage.

Electric vehicles

You won't even feel it move

Think of the way that aircraft slow down before their
final descent, before the fasten your seat belts light
comes on. This is how subtly and imperceptibly our
trains will slow down and speed up.

Electric motors are forever

Electric motors are not only cheaper to buy, they are
at least 10 times less expensive to maintain than
internal combustion engines. | mean, there are the
brushes, which can be super easy and cheap to
replace if the motor is designed correctly. And after
many year, the bearings will need to be replace, but
here we just remove the rotating armature and
swapping-out the bearings.

I mean, it is possible to take a 50-year-old
electric motor and most of the time, all you have to do
is replace the brushes and perhaps the bearings and
the motor works just the way it did when it was first
made. The other parts just spin in the air.

Internal combustion engines are not like this.
The piston rubs on the cylinder and requires constant
lubrication. And even with the lubrication, they wear
out and require much more maintenance. They are
also much heavier and complex.

Electric motors need no fuel
Engines need to carry fuel, flammable fuel.

Electric vehicles the right way

The right way to do electric vehicles is not with short-
lifespan* batteries and energy wasting tires on a
roadway. The right way to do electric vehicles is with
wired electricity and steel wheels on steel rails. These
vehicle are just electric motors, wheels, brakes and
compartment — without heavy and expensive
batteries. They can easily be made to weigh under
300kg/passenger, about 1/5th of what a small SUV
weighs today. (*all batteries have an absurdly short
lifespan when compared with even an internal
combustion engine and electric motors).

2 new clarifying terms
BV = BATTERY VEHICLE = a vehicle powered by
batteries
ELV = ELECTRIC LINE VEHICLE = a vehicle
powered by electric lines

The former grows increasingly stupid for long
distances. The latter is a great idea at any distance.

Oil guzzling batteries

It is hard to find information on how much oil it takes
to produce the batteries in an "electric" car. But
clearly the reason why economy electric vehicle are
so expensive has to do with the batteries. After all it
certainly is not the electric motors. These are much
less expensive than gas engines and transmissions.

We might also presume the batteries are not
being struggled against and that their cost is 85% oll
given the parasite's push for electric cars.

So here we look at a $35,000 car that might
cost $12,000 with a gas engine, and we have maybe
$25,000 in batteries — never mind how cheap the
replacement batteries are listed at today. If these are
85% oil, we have $20,000 in oil that will last say
80,000 miles. That is 25 cents a mile for batteries —
not even counting the energy to charge them.

How much is 25 cents a mile? If gas costs
$2/gallon and you car gets 8mpg, that is 25 cents a
mile just like a Humvee or a motorhome. If gas costs
$3/gallon and you car gets 12mpg, that is 25 cents a
mile too, just like one of those giant SUVs. If oil costs
$4/gallon, and you car gets 16mpg, that is 25 cents a
mile, just like a Camaro car. If gas is $5/gallon and
you car gets 20mpg, that is 25 cents a mile, just like a
midsize car.

Here we see why the Arabs and Tesla's
El-one Mouth love "electric cars". The moment
anyone buys an electric car, they have pre-paid for
$20,000 in oil, and that is not even counting the oil
used to generate the electricity to charge the battery
vehicle.

Of course, the Arabs also love battery
powered and hybrid vehicles because they think that
these batteries will ultimately power the silent robotic
killing machines that will help them with their real final
solution over the rest of mankind.

Just an air whoosh

When a German train "zips" through a station at
30kph, all you hear is the cooling fans for the electric
engines. These are made intentionally loud by the
parasite so the train is not as silent as an oil wasting
electric car. Our new trains on robotically adjusted
tracks can be much quieter than our electric cars.
Even the air whoosh will be reduced by having
smooth trains on elevated viaducts with noise skirts.

Viaducts

What is it tethered to?

If we are going to use our rails to tether our 300kph,
400kph, or 500kph trains, we will need them attached
to something of considerable mass.

Rails as restraining straps
In order for our rails to act as powerful restraining



straps, they need to be anchored to something. Here
I think optimality will be achieved through a stack (not
a row) of H-shaped concrete trestles 5.1m-wide and
say 2m-high. Here we imagine the ground excavated
to the stable layer, and giant H-shaped trestles that
are say 3m-long will be placed. This will look like an
"infinitely long" bolt-together ladder in plan view, a
ladder that is around 6m wide.

In elevation view, this extends a meter or two
underground like a building foundation, deep enough
to get beyond the hydro-heave zone. In elevation, the
train will also be elevated off the ground for collision
safety, dust and under-passing purposes. The
excavated soil gets packed into the cells. This system
will mostly use soil mass to stop the train. Here that
mass will be about 20-30 metric tons per meter of
track. So the track under a 25m railcar might weigh
something like 600 metric tons.

Don't forget the rebar interlock at the end of
each H-TRESTLE. This should create a vertical cell
big enough to pour hi-strength concrete into. This is
needed to eliminate compression and to join the H-
trestles in tension. We might also pour a horizontal
concrete membrane every meter or so, in order to
affix the weight of the soil better. We also need to cap
the soil to control dust and more importantly to
manage water penetration and soil heave.

On grade viaducts

However we build our train tracks, the trestles should
bear on undisturbed soil that is well below the heave
line. In colder climates this is the frost line, and in
warmer climates with expansive soils, this is the depth
where water penetrates. If we don't do this, if we don't
build proper foundations, then our dynamic loads will
move our tracks much more than otherwise.

Thus we imagine trestles that are at least a
thick and strong as building foundations in whatever
region they are located. In the Arizona desert, these
may penetrate only 30-cm below the surface, In
central Canada it might be 2-meters, or more below
the surface.

And while our steel tracks will serve as
restraining straps, and it may be easiest to simply use
heavier tracks as restraining straps: Perhaps we want
to have a concrete grade beam connecting the
trestles. Here we imagine our trestles configured in
this shape: +++++++++++. The central grade beam is
covered and the tracks look like this: $¥t¥tfftt+t
from above.

Here we imagine the foundations being cut
by 3 ditch-witches. One ditch-witches cuts the grace
beam at first. Then two more ditch-witches come
along and cut trestle foundations from both sides. In
warm areas with stable soils, these trestles might be
9m long, 30cm thick and might extend 40cm below
the surface. They also extend perhaps 30cm above
the surface or more and have say 20cm of golf ball

sized gravel spread around for dust control. They
also have standard sized rebar cages dropped inside.

Thus we see trestles that may not weigh that
much in themselves, but that are keyed into the native
soil perhaps once every 2 meters. Also, again, on the
fastest tracks, there may be a single grade beam
linking the tracks down the middle.

Rail viaducts are much cheaper than highways
Rail should be much cheaper and faster to build than
highways in just about any environment. In the desert
area (deserted area) between our cities, the trains
can use fenced on-grade viaduct for braking and load-
bridging.

Waterproof skirting

One of the easiest things we can do to keep our
structures stable for decades is to surround them with
a waterproof walkway. This keeps rain from getting
into the soil and causing repeated expansion and
contraction of the soil the structure rests on. The
result of this is very easy to see in the 1920s
structures in Los Angeles. The ones with rain gutters
and surrounded by "ugly" walkway are much more
level and plumb than the ones surrounded by planters
watered by roof runoff.

So after we scrap off the top soil and
compact the soil underneath, there needs to be some
sort of sloping waterproof skirt around our viaducts to
keep the water from causing soil heave and settling.
Here we imagine 2.5m x 4m precast concrete panels
being laid on the base of the viaduct. These go under
a precast drip screed feature in the wall. These slope
at say 2% to 5% to channel the rain water away. The
top of the viaduct is also waterproof, and the water
flows out onto the skirting panels and is carried away
from the viaduct. Once we do this we won't have to
really bury our H-trestles because of seasonal soil
heave unless it is a matter of frost.

Make the skirting so it stacks on railcars.
Give it a tic-tac-toe structure so the membrane can be
thin. Have a central grappling point, right at the
center of gravity. Use rail-based robots to smooth the
excess tailings dirt and place the panels.

2-story viaduct

In the remote places where stanchion noise is not
much of an issue, we can use 2-story viaducts. This
will be much cheaper, although the lower train will
suffer from constantly flashing sunlight. Maybe we
can put the stanchions so they are 2m on and 2m off
and everything will just blur. This approach however
may be very noisy at 300kph.

Picture of Roman aqueduct

Elevated rail viaducts don't need to be ugly. After all,
many people today In Italy, and Croatia pay money for
a view of a Roman aqueduct.



What a viaduct should do:

1. Go down underground to where the soil is
completely stable with respect to water and ice.

2. Lift the trains up to where they are free from
collision risk and also where they will not create
problem with air pressure as they pass by.

3. Provide great weight for when emergency tethered
braking is needed.

4. Provide a foundation for heavy loads.

Dynamic loads need heavy ground bridging

The idea of heavy trains sitting on 100kg trestles is
our parasite's design choice, for it maximizes load
fluctuation and settling. Today, the average train
weighs hundreds times more than the ground bridging
it rides on. This sits on four wheels on spaghetti-thin
rails that flex a great bit if they have no support. Thus
the ground bridging moves to the maximum. Thus our
trains act like a slow vibrating compactor on the
ground — one that always produces differential
settling.

Instead we should use foundation structures
that weigh dozens of times more than the train
bumping-along on them. And we should take every
effort to minimize that bumping and spread out its
load.

A mind experiment
Find a wet clay area after a rain. Find a place that a
man can stick a 1cm steel probe down at least 60cm.
level off an area. Take two sheet of 1/4" (6mm)
plywood cut them lengthwise and lay them down so
they is 32' (10m) long. In another similar location
some meters away level out the ground and lay a
10m x 6m slab of concrete.

Next take a bunch of people and make
10,000 trips over each path. Which one has settled
the most? The concrete will have hardly moved at all,
while the plywood will have been hammered into the
ground by the force of the feet on it. Here we realize
that today's rail tracks are absurdly flimsy.

An important idea
Viaduct on is vastly more stable on gravel than
trestles and spaghetti rails.

Gravel settles

Officially gravel doesn't settle. Officially you can pour
any amount of gravel into any sized hole and it will not
settle at all. This is simply not true. | used grave in a
construction project for this reason and then came
back some years later. And guess what? It settled. It
didn't settle by as much as carefully compacted
backfill, but 2 meters deep grave will settle noticeably
— even without a thousand tons of railcar bouncing
along on top of it each day.

Gravel piles settle under dynamic loads

Gravel settles under the endless hammering of
repeated train traffic. The idea of spaghetti-thin rails
on wood trestles on gravel is a design that needs
constant maintenance and this keeps our trains from
going fast.

Lay gravel in lifts

To minimize settling in gravel, use vibrating
steamrollers at each lift. A man drives it out once and
the vehicles just automatically and robotically repeat
the process at each lift.

We should know
Take a piece of 1/2" steel sheet and lay it between
two trestles. Clamp a digital micrometer between this
and the center bottom of the rail above. Does the rail
deflect when the train passes over it? If it does, how
much does this deflection reduce rolling efficiency?
How much noise and vibration does this produce?
We must make sure that our tracks are large enough
not to deflect given the bracket spacing we are using.
This is rather like the rolling resistance that
rubber tires introduce — except with tires it comes
from the wheel, not the operating surface. To conquer
gravity and friction, the gravity bearing mechanism
must be absolutely straight and absolutely rigid. If we
do this, and we manage our wind profile by using long
trains, energy use will approach zero on level ground.

H-trestles in highly robotic factories.

These H-trestles can be made by the millions in
factories where a great number of identical molds on
flatbed railcars pass by a shared mold opening and
closing robot.

From the stage of a finished trestle, the two
outer sides of the H are unbolted by robotically
operated air-tools. Then hydraulic arms tilt these
forms out/back at the top.

Then the 4 parallel segments (inside the H's
legs) are actuated so they are pulled into two
trapezoids. Then the two pieces forming the H's web
are pulled apart. Then an overhead crane lifts the
molded concrete piece off and moves it to a delivery
railcar on a parallel track.

Then the robot takes a jig-assembled rebar
lattice from the next railcar on the line where the
finished piece went. This has a steel structure that
keeps it in properly positioned in the mold. This rebar
lattice is placed in the center of where the forms will
be re-compressed. Then the robot pushes the H's
web molds back together and tightens the form
screws. Then it squares the trapezoids. Then it tilts
the outside form upright and tightens those screws.
Then the mold is sent down the track for concrete
injection on a giant vibrator. Then the excess wet
concrete is scraped off.

This process happens all day and all night.



If a robot can cycle every 6 minutes, that is 240 H-
trestles per day, or 89,425 per year assuming no shut
downs. That is 447,000m of track or 447km of track
per year. If the nation had say 15 of these devices
(and 3600 molds!) it could produce about 5,000km of
viaduct per year. Thus in 10 years, the nation might
have a 50,000km high-speed rail system.

Railway viaduct cost

Mass produced things tend to approach materials
cost when made in immense quantities. Our railways
will be no different. Here we are left imagining a
typical section of railway viaduct that is the shape of
an vertical H beam— say 6m wide, 5m long and 4m
tall (3m exposed above grade) This involves:

1) 30m of foundation.

2) 40m of outside wall.

3) 10.5m of web.

In total that is 80.5sgm. of concrete say 25cm thick, or
20 cubic meters of concrete per 5 lineal meters of
track. In other words that is 4 cubic meters of
concrete per meter of track.

Now if you pick up the concrete from the
plant yourself today in the US, it costs about $80/
cubic yard, which is $106/cubic meter. If we say that
rebar costs almost as much (which it will not), then we
are up to say $200 per cubic meter for materials.
$800 of material per lineal meter of track. This does
not include the cost of operating the forms or shipping
the trestles to job site.

And while assembling these huge things will
be expensive, it will move fast because we will place
millions of these segments, we soon have highly
automated if not robotic equipment doing much of the
work for us. So lets just double our material costs.
Here we are up to $1,600/meter for installed viaduct.

And let’s add $30/meter for backfill,
compaction and soil affixing. And because each
meter of track uses about 30 cubic meters of backfill,
this will cost about $900. Thus the viaducts,
excluding the rails will cost something like $2,500/
lineal meter.

Let's add another $400/meter for the I-beam/
rail and another $400/meter for hardware and labor.
All together we are up to $3,300/ lineal meter, or $3-
million per kilometer assuming no bridges and no cost
of right of way acquisition. Double it for foundation
and installation and we have $6-million per kilometer.

Also this is a raised urban viaduct, and
intercity on-grade trains could be built for a fraction of
the cost.

The Texas triangle

Here is an example of a rail project long overdue. We
will put a 450 kph 8-gauge (6.4 meter track
separation) viaduct between Dallas, Houston and San
Antonio. | might shape the routes like a 5-point
asterisk, with a new Texas City hub somewhere

around Bremond/ Marquez/ Hearne. The sale of land
at the new hub city pays for the rail system and then
some. One line goes southwest to Austin, San
Antonio and beyond. One line goes to Houston. One
to Temple and Killeen, One to Waco. One to near
Dallas DFW airport where there is a change to the
Dallas/Ft. Worth line.

Two track construction logistics

Delivery logistics are much harder with only one track.
However, if we are building two tracks at once,
leapfrog style, most logistics problems of end rail
construction vanish.

Here we imagine two identical sets of
placement equipment operating at the leading edge
of each of two new rail lines. This is two sets of all the
rail based equipment. But there one crew that goes
between the two lines. The bulldozers and cranes
that are not rail-based are also shared between the
two lines.

Two rail lines and cement delivery

It is not hard to imagine 100 cement mixers on rails,
each maybe 6x the capacity of today's road-based
mixers. They are sent out dry. About 45 minutes
before construction starts, they pass by the water
tanks. Then they pass by a hopper and dump their
cargo into the cement pumping system. Here we
imagine robots filling our cement mixers with water
and cleaning them too. Here we imagine the mixers
dumping automatically. Here we imagine a few
people here and there replacing 600 drivers. And due
to a fall in energy prices, and the low cost of moving
heavy loads by rail, the cost of the cement and gravel
will plummet in price.

We will test many approaches

| don't know which approach is better. Perhaps we
will use giant trestles. Perhaps we will use H-viaduct.
Perhaps we will use grade beams.

The distance between paired rail lines
It might be a good idea if the tracks were always a
fixed distance apart (at least outside our townships)
this way the cranes can bolt to the other viaducts for
support. If they do this, they should be able to work
without counter balancing weights.

The loading crane goes on the other track
from the delivering train. Then the delivering train
feeds its supplies down its track.

9-meter trestles - no gravel
Think of the land near highway-5 between Bakersfield
and Stockton. There is nobody there. Here a fence
would do to keep animals off the track — what few
animals there are.

Here we imagine those T-shapped concrete
beams used in building parking structures. They are



say 90cm tall and have a 90cm top. We can use
these upside down, so that we have a broad concrete
surface and the height of the T's leg gives us strength
for vertical loads.

Viaduct: Delivery to placement

Whatever we do, we will need to ferry the segments
for a distance that is up to a freight train's length. If
we have 3 second grappling, this shuttling will be the
slowest part of the placement process due to the
distance that must be traveled. Thus we realize that
we definitely would like to shuttle 2 or even 10
segments at once. However, the last car starts being
too far away after say 5 segments.

So maybe we shuttle 4 segments in 4
independent railcars. These cars are spread out
where they are loaded by pivot cranes and compress
where they are unloaded by gantry cranes.

The gantry crane has 4 independent booms.
Each has two vertical toothed i-beams with funneled
end-grapples. Over the course of perhaps 10
seconds, the cars arrive, the grapples come down
(from the booms which are already in position), then
the grapples engage, then the segments are lifted and
the shuttle cars shuttles back for another load. Thus
the shuttle cars head back for refill just moments after
arriving. Meanwhile the segments are being placed

When the shuttles arrive for reloading, they
will roll under the segments they will soon be reloaded
with. This goes in a jig that guides the segments into
precise position. Thus when the shuttle cars stops,
the segments can be grappled rapidly and efficiently.
Thus over 90% of the time of the shuttles will be spent
shuttling.

Eccentricities

1) The segment hooks are not exactly at the center of
gravity. Thus the heel of each segment is supposed to
kick back a bit and be the only part touching the
previous segment.

2) The segments have male and female sides.

The segments drop key together so they precisely
mate all by themselves. All the placement crane has
to do is get them close and lower the new piece into
position.

Placement

The 4 segments will then be placed one after the by
the gantry crane. As each is placed, its empty gantry
booms will proceed to the end and compress from 5m
to perhaps 75cm.

As the segment is placed it is vibrated. If it
goes down too far, it is raised and sand is dispensed
by tube from follower trucks and the segment is tried
again.

The daily track lay
if 196 units of 5m viaduct segments are placed on

each track each day. This is just about one kilometer
per day. This is 14 per hour, or one every 4 minutes,
14 hours a day.

Passing through the gantry crane

The gantry crane covers the rails, but then at about
80cm up goes outward beyond the edge of the tracks.
Then there are column/walls and a top. All this is to
provide room for a conveyer system.

Scaling our automation

Automation of macro-processes is very important to
our ability to scale up our human terra-forming
abilities. Building our railroad with robots is critically
important to scaling our abilities.

Expensive bridges no more

With auto-drive cars, we can now safely divide our
bridges tollbooth style and drive under our rail lines.
This will help us do away with most long-span and
hugely costly bridge structures for our roads. Instead
we can have standardized single lane bridges for our
cars and trains.

For road vehicles we can require 90°
crossings and the span will be no wider than a traffic
lane, say 3-meters (10'). And when trains cross trains
at 90°, the bridges will only have to span about 10m
(33"). And when they cross at 45° (this will be quite
rare) they will only have to span about 12.5m (41").

A worthwhile investment

For $6-billion we get 1,000km of high-speed raised
viaduct, for $60-billion we get 10,000km. For $300-
billion we get a 50,000km system that will slash US
energy consumption and end Arab power over our
nation forever. And maybe my numbers need to be
doubled or tripled, but it is a worthwhile investment
considering the payback.

Why is steel so much more expensive in America
than in Asia?

Township viaducts

A pair of 15 km viaducts (30km of viaduct) should cost
around $180 million. For 3 township of 15,000 people
each, that comes to about $4,000 per person. Thus
the cost of building the shuttle lines is not much more
than the average annual US automobile expenditure.

On grade rail lines: much cheaper
In the more remote areas, we can easily put our rail
lines just on grade — with barbed wire fences, like our
80mph Texas highways — highways coursing through
deer country. This will be much cheaper than using
raised viaducts. We may only decide it is safe to go
200kph without the tethered stopping.

But lets say we pour a concrete "roadway" to
act as as:



1) A foundation that penetrates down beneath where
the soil heaves.

2) A way of keying into the ground for teathered
stopping.

3) A way to channel the water away.

Power lines go inside the viaduct channel
Raised viaducts need no overhead catenary lines. A
third rail is an acceptable approach on a raised
viaduct or a fenced railway.

Closed stations and the 3rd rail

We need not worry about the dangerous 3rd rail if we
have enclosed stations. Overhead catenary not only
expensive, they are inferior to a 3rd rail system. Put
the electric supply under the train.

6m connections are further apart

It should be noted that because of the increased size
of our rails, the new connectors can be up to around 2
meters apart. Because they are fewer, they will be
easier to adjust.

Shrouded crossings

If our trains are going 450kph, we will need shrouds at
the crossings. This due to the speed of the air-flow
that our 450kph trains will generate.

Fat bolts

These will probably be bigger than the bolts we use to
hold down our largest semaphores (traffic stop-go
lights) today.

The positioning crane

This rubber-tire device rides the viaduct it just
positioned. It rides it as a concrete rail.. The resulting
ladder-form viaduct will be drivable the moment a
each new H-form is bolted on. So onto these two
parallel wall-tops we will drive our H-form positioning
cranes. This will use rubber wheels that are kept on
the wall-tops with guides. They should probably be
very heavy and put most of their load on the latest H-
trestle laid. They should probably also vibrate to get
as much settling out as possible.

Rail installation

Once the H-trestles are ready for rail installation, we
will remove the hole covers for the mounting bolts the
mounting bolts and brackets will be installed, and the
rail placed. The rail placing and welding bots will also
use the H-trestles as tracks.

A smooth viaduct extrusion

Try to keep the viaduct top smooth so the trains will
not make noise. Use prefabricated bolt-in-place cap
pieces to keep the top smooth, to create a walking
surface for servicing staff, to reduce dust, and most
importantly to restrain both the soil loads and the

braking forces. This piece may have an integrated
beam to act in tension and restrain the top corners of
the H-forms.

Partly filled with soil?
We might not have to completely fill our raised viaduct
cells with soil.

Stabilize the fill dirt with "egg crates"

We might probably make horizontal concrete grid
structures that fit tightly into our viaduct cells. We
might use these every 60cm to better join the mass of
the soil with the mass of the viaduct.

Cast in place viaduct

In another scheme we have a string of H-trestle forms
opened from the back, being moved by a long robot
and then closed in front.

Giant soil prep compactor

Before the viaduct casting mechanism comes a giant
and heavy vibrator, with a giant heavy offset wheel
acting as a vibrator.

Pontoon viaducts

We imagine viaducts passing over marshy soil that is
too wet to be stable. Here we must ditch the heavy
dirt-filled raised viaducts because the weight will
cause settling. In this sort of place we must slow our
trains down because we will lack the TRACKMASS to
slow them down at high speeds.

Here we imagine track-transverse concrete
trestles like we use today, but much bigger and
stronger. These are as much as 12m long concrete T-
bars (upside down). The soil flanges are up to maybe
2m wide and the web is up to 3m tall. Both taper in
some way at their ends and at the center. These we
will lay like conventional trestles. And we will
probably use X-style shear bracing between our
trestles due to their height and instability for stopping
purposes.

1860 trestles updated

The cheapest approach today, the approach that
people in the poorest countries may want to use for
transportation is this:

Use large I-beams 6m apart. Put them on
8m T-Extrusion trestles on gravel on grade. This OGG
= on-grade-gravel system will be much cheaper that
RAV = raised-anchoring-viaduct. And this OGG
system is still potentially a couple times "faster" than
current 1.5m gauge tracks — although it will not
support tethered breaking.

The soil heaving and stability for this
approach will still be 4-6 times less than with narrow
gauge tracks.

Un-walkable raised viaducts



1) We can use exposed third rails.

2) We can park out trains far out on particularly
elevated stretches when not in use.

3) Nobody will try to dash across the tracks.

Robots to build the lines

For our on-grade rail, we will use robots to place the
rebar in the footings — rebar frames made by robots.
This has giant bolts projecting that are precisely
placed — bolts to hold the H-trestles. The pieces
connect in a way that prevents misalignment. They
also have a number of screwable vertical positioning
feet. so we have some control over rebar elevation.
They sit in a channel that is a bit too wide, so they can
be pulled left or right upon installation.

Once the foundation has hardened
sufficiently, another robot will come along place the
viaduct concrete H's on the bolts sticking out from the
foundation. Then men will come along and place and
tighten the bolts. Either that or the tracks will mount
directly to the foundation.

Non-obstructive viaducts

The raised train viaducts should have a small pass-
under arch as soon as it leaves a town, then one after
300m, then one after 500m, then one after 1km at
least. The viaducts should not be an obstruction for
vehicles or pedestrians.

Sky-trains 101

Put your trains high enough that they are out of reach,
and high enough that people can drive under them.
Do not put your trains 5-stories up in the air like they
did in Bangkok. If you do this, not only do costs
inflate, but it is hard to climb up and use the system.

The Bangkok sky-train joke

Anyone using the new Bangkok airport can see the
sky train viaduct. Why did the people of Thailand
build this thing 5 stories up in the middle of rice fields?
| submit that the real reason is just like those Roman
roads. | submit that due to differential ground settling,
in 50 or 100 years, the sky train viaduct will become
unusable.

Why does this system have an average
speed of 35kph (21mph)? You have built your own
pedestrian-free dedicated right of way viaduct. Why
can't the trains go as fast as the ordinary trains of
Europe? Why don't the trains go 220kph when they
are heading to the airport? Why is the air conditioning
insufficient? Why does it cost any thing at all to use
this train when your city suffers from such bad traffic?
Giving the crowding, why don't you have two or three
times as many trains per hour? Why don't you have
an extra car on the ends of the trains, so that more
people can ride this costly investment of your people?

Why couldn't you put your trains on grade
with all the roads going over the the trains? Why put

the BTS 6-stories in the air when it is crossing through
fields. How could anyone access that? Behold the
Arabs are running your city and your nation —just like
everywhere else. Look what they did to keep you
stuck in traffic, or moving to the suburbs where you
burned lots of their gasoline.

| would like to suggest that you are living in a
matrix, and you only have the illusion of freedom and
democracy and political autonomy. | mean look how
you have this monarchy, a monarchy just what the
Arabs love. And look how this Arab-fronting
monarchy owns something like 2/3 or 9/10ths of your
nation. Look how it moved your nation's capital into
the jaws of death, right at the mouth of a great
tsunami funnel.

The brotherhood got real rich in the 1970s,
right on the heels of the US Army's pullout from
Vietnam. The Arabs probably were much more
successful buying human breed mares thanks to the
US Army.

Today there are now many Thais that are
taller with thicker eyebrows and bigger noses. Most
have little idea about their background. Most do not
know. Leave them alone, unless they were cleaved to
the slave's religion — and fail to cleave away.

Focus your fury on those who remain slaves
of the foreign parasite race and its violent ideology of
Islam disguised as a religion. You can chain them up
like dogs with a collar and a chain. Just a bolt-
together collar of steel band in two halves. Don't give
them enough chain that they can sit down, only
enough to kneel and lean against the pole. Don't
forget to pad the pole real soft so they can't kill
themselves. Then leave them outside in the sun in a
short sleeve shirt. Let them get all sunburnt. Give
them lots of water so they last a long time. handcuff
their hands in front of them. Do this until they shit in a
Koran. Give them a laxative if they ask.

Once they shit in a koran, you might want to
ship them off to the nearest PU location. And feel free
to mark them with colloidal silver or by cauterizing a
1cm equilateral V from the top quarter of their left ear.
This will say to the world that this person refused to
recognize the new prophet and is not to be trusted. If
they ever come back to your land, you can kill them
painfully or put them in jail. Your nation is free to do
this.

With regard to the three break away
provinces. These were partly Thai, even though they
were mostly Muslim, so the British in Malaya just
backed off and ceded this area to Thailand. It is really
the property of Mal-aysia = evil-asia. You are to Cede
them to Malaysia once you have ejected all your
Muslims who fail to post a shit in the koran video, and
do the other things required to renounce Islam.

Quiet trains
There are some important changes that will make our



trains whisper quiet:

1) The rails will be vey smooth because we will use
robots to adjust the rails to dead level.

2) The rails will rest on proper footings and the two
will be firmly attached, so the trains never clang or
thump. They will be as freshly aligned track in
Europe.

3) In-town trains will be fully enclosed on all sides if
they are moving at high speeds

4) All the electric engines will be as quiet as one of
those battery operated Tesla cars.

5) All trains will use screech-free brakes.

6) All banks will be engineered for speed and all trains
will be equipped with horizontal wheels.

7) Our trains will suffer no on-grade crossings, so they
will never need to sound their horns.

Viaduct noise control in townships

First of all, our parasite constantly struggles to
maximize the noise of our trains today. Yet even with
this, the Motel-One in Berlin near the Zoologisher
Garden S-bahn station (a raised viaduct) is perfectly
quiet. It uses double-double panes of glass and you
can not hear the train at all. So we can have perfectly
quiet residences directly adjacent to a raised viaduct,
even with today's noisy trains.

On the other hand, when the U-bahn passes
under your building, such as at the Wombat hostel
(U2 near Torstrasse), the rumble is definitely
disturbing to the neighbors.

Our new viaducts will have three
advantages: 1) They will be very smooth thanks to
the inertial monitors and robots adjusting the tracks.
2) The tracks will be anchored directly to a hugely
heavy viaduct that will not budge under the weight of
the trains. This will not act like a drum membrane.
and 3) The trains, as they pass through our townships
will be encased in a double layer of pre-cast concrete
viaduct shell— a shell that is internally corrugated
structurally like packing cardboard, but one that is
perhaps only 5% connections. This is perhaps
60cm-120cm thick, with sound dampening material
injected into the voids. This sort of shell may be
necessary if we are going to have trains flying through
our townships at full speed.

Prefab line encasement segments

We will encase our rail lines in concrete in many
places. The covers will just be C-shaped (however
rectangular, like short segments of "C" shaped steel
beams). The segments of cover are shorter than our
tracks are wide. They ride transverse, between the
rails, below the rail surface on special railcars that
only move these segments. This way, the covers can
pass on/through their own covered track. And
perhaps the noise covers can only be used on straight
track, not on curves. It is not that hard after all to say
that all train lines in and near a town be straight. Also

the arced stations the Germans built (so the
conductor could see if everyone was aboard) are no
longer necessary in today's age of video cameras.

The segments come on the opposite track
and the delivery trains feed down the track one car at
atime. The crane auto grapples to a single centered
hook or eye at the center of gravity. Then the
segments are lifted to the opposite track and placed
on a special placement railcar. This has a vertical axil
at one end (Like a big tire balancing device) This axil
raises and lowers and slowly rotates the covers
concert with special slow 100:1 track positioning
wheels.

When the new segment is put on the
placement axil, on the placement railcar, the car
rotates the segment to the correct orientation. Then
the car moves into exact position. Then the vertical
axil lowers and places the cover in precise position.
Next comes a railcar with an arm robot that runs a
high-pressure caulk tube over the seams. These are
both between the segments and the viaduct. There
may be another robot on top of the cover doing much
the same thing from the other side. The covers are
probably bolted to the viaduct, but not to each other.

With the tracks covered at the center of the
town, we might link our buildings at the 3rd floor to the
road that will be created by our line encasement
segments. This will be like the abandoned elevated
line in New York.

Also, we imagine that the segments will need
to have structural ribs. Thus we will make them
thicker where they join one another. Perhaps they are
30cm thick at these edges and this allows us to have
noise baffles at the seams. We also imagine that
there is a thick acoustic coating sprayed on the inside
surface to cut down on noise reverberations.

50 lines at once

There is no reason why we can't gear-up so that we
are laying hundreds of viaducts/ rail lines at once
nationwide. There are some parts of the book
"Freedom's Forge" that should be inspirational here.

Economies work better under pressure
The more we ask of our economy, the more it will
make.

Don't forget the lateral web between the rails
Make sure to design for the high outward pressures
on our rails when the brakes are engaged. Here we
might use concrete stem walls and pilasters of sorts
at the top of our viaducts for bracing.

Earthquake design
Strong enough to stop a 500kph train, weak enough
to break apart into re-usable, easy to manipulate
blocks in an earthquake.

Each piece of track will be terminated with



super-strong flanges and somewhat-strong bolts.
These bolts will be strong enough (and directionally
oriented) for the needs of stopping a 500kph train, but
weak enough to be the only place that gets damaged
in an earthquake.

In earthquake zones the track segments
might each have these 5-cmz nibs at the end for the
rolling surface. This will hopefully be where the
compression damage will occur and this can hopefully
be cut out and temporarily replaced with a block

Also, it is important to realize that all tracks
will be standard "bends". This will be clearly marked
on each piece, along with the segment number. Thus
we can remove the old rails, and viaduct segments,
pull them apart, reposition (or replace) them and
install the new rails in a matter of days hopefully.

How to do foundations over earthquake faults
The foundation is flat like a building slab. This
extends about 12" above the surrounding grade. It is
the size and shape of the concrete viaduct structures
resting on top if it. In the event of an earthquake,
everything just slides around. It is rather like yanking
a sheet of paper out from under a glass of water.
After this, we can replace the damaged structures
with backup pieces standing by for that purpose.

Rail lines and wilderness

In the more remote areas, | imagine that we will see
systems where the steel rails rest upon these T
columns say 10 meters apart say. Please everyone,
for the good of all, we must never look at this sort of
ultra-quiet, elevated-line for electric trains as harming
the environment, or being unsightly in any way. All
must accept it when it comes their way. Doing this
will permit humanity to sprout thousands of beautiful
mountain side and remote communities in beautiful
places.

Speed, robots and precision

The G'n-os book of world records

The current land speed record is propaganda. So too
was that Anthony Hopkins, fastest Indian movie. He
